t0 and cluster time distribution
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cluster time distribution (gamma data)
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cluster time distribution (neutron data)

E| 11 1 | L1 1 1 11 1 1 I 11 1 | | 11 1 | | L1 1 1 | L1 1 1 | L1 1 1
0 1 2 3 4 5 6 7 8
time11

- 3~4 keV

AN T T T T T T T T T T N T N A B I A
0 1 2 3 4 5 6 7 8

time11

- 2~3 keV
1035—
1025—
10 =
=
:||||||||||||||||||||||||||||||||||||||
0 1 2 3 4 5 6 7 8
time11
: 4~5 keV
10° =
100 =
10:—
TS U T T T A T T (A A A A MO A MO O
o 1 2 3 4 5 6 7 8
time11



Strange peak events
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About 2~3 events per hour in 2~3 keV (~1 %)
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cluster time distribution (gamma data)
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Mean time distribution
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Powder C : ~15 Hz (8Hz bkg + 7Hz Cs137)
WSIII : ~23 Hz (9Hz bkg + 14Hz Cs137)







Mean time distribution
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